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Carroll diagram to show which of my friends have a pet
	
	has a pet
	doesn’t have a pet

	boys
	
	

	girls
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Use what you know about number bonds to 10 to complete the number bonds to 20:





11 +�
�
=20�
�
17+�
�
=20�
�
13+�
�
=20�
�
15+�
�
=20�
�
14+�
�
=20�
�
18+�
�
=20�
�
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in 5 x table�
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Put these numbers in the correct place in the Carroll diagram:





50�
24�
35�
6�
36�
�
10�
40�
21�
18�
12�
�






2 x table





10 x table





Using numbers below 50, how many numbers can you put into EACH part of the Venn diagram…?








